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(55%) Wine and Whisky are perfect substitutes for Ms. Sherry and the slope of
her indifference curves is 1. One day she bought two bottles of Whisky and 18
bottles of Wine. (The bottles of both drinks are the same size.)

(a) Wine is less expensive than Whisky
(b) Wine is more expensive than Whisky
(c) Wine and Whisky cost the same

(d) Ms. Sherry prefers Whisky to Wine
{e) None of the above.

. (543) Consider the market demand and supply functions for Mosburgerinacom-

petitive market

QP =26-2P, Q%=-9+3P.
A sales tax is imposed in the price received by firms at tax rate ¢ = 0.5. Thus,

(a) Consumer surplus is reduced by 18

(b) Producer surplus is reduced by 27

(c) The total amount of taxes collected is 30

(d) After taxation firms receive 10

(e) Deadweight loss associated with this sales tax is 15.

. (543) Consider FuxHonhai Co. facing the inverse market demand function

P=10-Q/2,

And operating two plants with output 4, for plant 1 and g, for plant 2. Suppose
marginal costs for the respective plants be

SMC,=1+29, SMC,=2+ q,.
FuxHonhai Co. will maximize the profit. Therefore,

(a) FuxHonhai Co. will produce Q=5

(b) the optimal price for FuxHonhai Co. is P =7.0
{c) the marginal revenue is 10

(d) the optimal output for plant 1is 2

(e) the optimal output for plant 2 is 2.

. (553) Suppose the following market demand and short-run total cost STC func-

tions for TaiDenn Co., a monopoly:

QD=17—§, STC = Q*+10Q +50.

The monopoly will maximize the profit. Assume TaiDenn Co. employs price
discrimination by offering a per-unit price discount for larger-volume purchases
(nonlinear pricing). TaiDenn will set at marginal cost pricing for larger-volume
purchases and a higher price will be set for low-volume purchases. Thus,
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(a) the profit-maximizing quantity for the smaller purchaser Q, = 4, the smaller
purchaser unit price P, = 28

(b) the profit-maximizing quantity for the larger purchaser Q, = 3, the larger
purchaser unit price P, = 22

(c) the profit without price discrimination for TaiDenn is 2

(d) the profit with price discrimination for TaiDenn is 4

(e) the optimal no-price-discrimination output for TaiDenn is 6.

5. (543) The production function is f (x,, x,) = x;°x7 >, if the price of factor 1is $20,
price of factor 2 is $15, in what proportions should the firm use factor 1 and factor
2, if it want to maximize profit?

(@) x, =15%,

(b) X =X,

(© x =2%,

(d) x, =0.67x,

(e) None of the above.

6. (543) Stever's utility function is U(X, Y) = min {4X,2X + Y}. The price of X is
$3 and the price of Y is $1. Stever's income offer curve is:

(a) aline parallel to the X axis

(b) aray from the origin with a slope of 2
(c) aline parallel to the ¥ axis

(d) the same as his Engel curve for X

(e) None of the above.

7. (543) Mary has the utility function U(x,, x,) = min{2x, + x,, %, + 2x,}. She has
$40 to spend on both goods. If the prices of good 1 and good 2 are $1 and s4
respectively. Mary will

(a) consume at least as many good 2 as good 1 but might consume both
(b) definitely spend all of his income on good 1

(c) consume at least as many good 1 as good 2 but might consume both
(d) definitely spend all of his income on good 2

(e) None of the above.

8. (s43) A monoposony’s production function and a monopoly’s marginal cost func-
tion SMC are

q=60X—-0.5X*and SMC, = X,

where SMC corresponds to the monopsony’s average input cost AIC, X is the
output level of the monopoly. Both the monopoly and monopsony will maximize
profits. Please select:

(a) If the unit output price P =1, then the purchased input X = 20
(b) At P =1, the equilibrium output for the monopoly is Xy = 25
(¢) If P = 1, the monopsony’s AIC =15

(d) At P =1, the monopsony’s total input cost is 225

(e) At P =3, the monopsony’s input price Vy = 20.
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9. (543) Consider the inverse demand curve for a nonrival but exclusive commodity
P =10-Q/100,
With an associated marginal cost MC =4. The firm will maximize the profit.

If the number of times the commodity is shared y = 100, then the level of con-
sumption is Z = 100Q. With a transaction cost of C, = 1, the firm will maximize
the profit for renting the commodity. Therefore,

(a) the optimal level of consumption is Z* = 224

(b) the producer surplus without renting this commodity is PS = 450

(c) the optimal unit price for renting the commodity is 5.52

{d) the producer surplus for renting the commodity is 2007.04

(e) the marginal cost of production associated with renting is more than the
marginal cost of selling.

10. (553) Consider Levi Petro Co., with the short-run total cost function
STC= -5Z2+2*-ZQ+ Q*+10,

facing a perfectly competitive per-unit price for Q of P = 2, and Z is emission
level. Its marginal cost of the externality is MBE = 5 - 2Z + Q. In addition,
assume the firm must pay a per-unit tax r on emission level Z. Assume that 7 = 3
and the firm will maximize the profit. Thus,

(a) the optimal output level without a per-unit tax on emission is 6

(b) the optimal price without a per-unit tax on emission is 4

(c) the optimal price with a per-unit tax on emission is 2

(d) the optimal output leve] with a per-unit tax on emission is 2

(e) the short-run marginal cost without a per-unit tax on emission is SMC =
-2+ 2Q.

In 1965, gasoline sold for 30 cents. In 1965 dollars, today’s price is 26 cents. So, yes,
the current oil price depression is not ordinary.

Markets once assumed that instability, particularly in the Middle East, meant
rising oil prices. Now instability means falling oil prices. Saudi Arabia, which peak
oil theorists insisted was on the verge of exhausting its major fields, recently tweaked
production to a record-beating 10.5 million barrels a day, low prices be damned. The
motive: Riyadh’s undeclared war against Iran and Irar's ally-of-the-moment, Russia.

Russia, whose energy development was expected to decline once sanctions cut
it off from Western capital, surprised many by setting a post-Soviet record of 10.8
million barrels a day in December. Helping was the Kremlins willingness to slash the
exchange value of the ruble, cutting its oil companies’ domestic costs even though it
also hammered the standard of living of the average Russian (40% of whose food is
imported). This Russian-Saudi game of chicken, occasioned by Mr. Putin’s meddling
in Syria, is now the key driver of a global oil glut. WSJ, 2016.1.2

n. (553) XEF—DEERE, Blioss EBEH, 2015 EMHERE 026 E7T/M1&.
BR&R 19652015 FHAM, ZEFYLEFIZER 3.5%, EVEREER 2.0% BEF
R 1.5%, HHEE 20 FRENZ B BRSO T2 (RAFTETEET L L2
BEBST BB 1.035%° = 5.58,1.020%° = 2.69, 1.015%° = 2.11,)
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1. (59) B, TR GERE 2 R, 2R

() HELER, PRESTRERHEEEE TR,

(b) HBELLRYIEVNRE, ¥ RHMMTH AF SRS EDREHE,
(c) BEBUTERT (ruble) RIEZH, ARNEFHRADLTRE,
(d) BEFEENBNRERSOMERE.

Between 1980 and 2014, according to an analysis of 60 economies by the IME a 10%
depreciation relative to the currencies of trading partners boosted net exports by 1.5%
of GDP over the long term, on average. Most of the improvement came within the
first year.

But devaluations do not seem to have provided quite the same boost recently.
Japan is the best example. The yen has been depreciating rapidly. Yet export volumes
have barely budged. This is a surprise: the IMF calculates that Japanese exports are
around 20% lower than it would have expected, given how the yen has weakened.
Devaluations in other countries, including South Africa and Turkey, have also dis-
appointed.

Both the IMF and the World Bank have highlighted a possible explanation for the
weak performance of exports in countries with falling currencies: the prevalence of
global supply chains. Globalisation has turned lots of countries into way-stations in
the manufacture of individual products. Components are imported, augmented and
re-exported. This means that much of what a country gains through a devaluation
in terms of the competitiveness of its exports, it loses through pricier imports.

Economist, 2016.1.9

13. (553) KLU ECEATNL, U5 ERE?

(a) K IMF Z 3¢ fE, —BZ BHEERZ [ 10%, HOHE{E & GDP thEE EF1.5%,
(b) FLEEK, B ERZ{EGER B A H O AEE I,

() BRZECHRTERERYZBTHE,

(d) BLE®E.

4. 5 BEEBREH, HEERFME SRS EIHELTK, 8 IMF 8 World
Bank FTiRHHAVEERE, FHERE

(a) BRI ORESEETK,

(b) ERftEE P, FENHOESURBE ETERED,
(o) EHO L GDP HAIRBHER, BEREZHERD,

(@) BB ERERECTE.

15. (553) 2015 L4, HREBBRLREBFBEBRIT (fed) REGA B, BIFSESR

BTERHRZR, HURPER
(a) EEMERHHERRRE,
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(b) REISERHEX L8,
(c) BRNEETHIE,
(d) ETEEME,

16. (57) HERABEIHESE, Y=C+1+G+ (X - M), U TEHEER:?

(a) % Y (REFE IBREES=-Y-C,

) —BZBEE EAR, BESRLE Y g L5

) Rz SET—-FELHELR,

(@ EEZ X - MEAR o, BFSEERS LSS FREAL,

17. (543) 19552000 FEHiH], ¥ A GDP HEE D 6%, 2HRIERE— BLE
BOHSEERES:
Y=AKPLF, B=o0.4,

Hrp Y iR GDP. BRRAOERRER 2.0%, BHRA (L) EREES 3.5%,
TRE (K) ERRER 6.0%, Bt HRMAE (4) REESNSA?

When adjusted for living costs, output per person in the emerging world almost dou-
bled between 2000 and 2009; the average annual rate of growth over that decade was
7.6%, 4.5 percentage points higher than the rate seen in rich countries. As a result
of that difference the gap between the developed and developing worlds narrowed
quickly.

Were the emerging world able to maintain a 4.5-percentage-point growth advan-
tage over the rich world, then other things being equal its average income per per-
son would converge with that in America in just over 30 years: scarcely a generation.
Such a convergence would represent an historic change rivalled in its scope only by
the extraordinary industrialisation that opened the global gaps between the rich and
the rest in the first place, and completely unprecedented in its pace.

Alas, those hopes are now slipping away. An analysis of data on GDP per person
suggests that convergence has slowed down a lot. Since 2008 growth rates across the
emerging world have slipped back toward those in advanced economies. If China is
included, emerging economies could expect to reach rich-world income levels, on
average, in just over 5o years. If China is left out, catch-up takes 115 years.

In 1997, just before the great catch-up got into its swing, the World BanK’s senior
economist, Lant Pritchett, described a widening income gap between rich and poor
countries as “the dominant feature of modern economic history”. Its dominance was
rendered particularly galling by the fact that orthodox economics struggled to ex-
plain it. Theories of economic growth like the one published by Nobel-winner Robert
Solow in 1956 predicted that, over time, poor economies should catch up with rich
ones.

In the Solow model economies were poor because their workers had access to less
capital. This capital shortfall implied that the return on investment should be high,
so capital should flow from rich countries to poor ones, leading the two worlds to
converge on similar levels of productivity and income. The fact that the richer coun-
tries would themselves grow while this was going on complicated matters, but not
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too terribly. Their long-run growth, Mr Solow reckoned, was driven by new tech-
nology which, once developed, could be adopted by poorer economies too. Indeed,
the poor could potentially learn from the missteps made by the rich, and leapfrog
directly to more productive ways of doing things.

The model seemed to apply well enough to the histories of then-rich countries,

- Thanks to its trailblazing industrial revolution, British GDP per person soared above

that in other countries in the 19th century. By 1870 Britons were 30% more produc-
tive than Americans and 70% more productive than Germans. Yet this advantage
disappeared as rivals improved upon Britain’s successes. By the early 20th century
America had already surpassed Britain; not long after the second world war most of
western Europe had caught up.

But what was true for Europe and the colonies it had created in temperate climes
did not apply elsewhere. Prior to the late 1990s poor countries growing faster than
rich ones were rare, and doing it persistently was rarer still. From the mid-1940s to

 the mid-1990s less than a third of developing economies were growing faster than

the rich world at any one time. In any given economy one decade’s gains were often
reversed in the next.

Some Asian economies proved to be exceptions. Japan, already industrialised
in the first part of the 20th century, grew to be the world’s second largest economy.
South Korea, Taiwan and a smattering of city-states like Singapore and Hong Kong
also got rich. Adapted from Economist, 2014.9.13

M X E, SHEEE 18208,
18, (54) KU EXCE, DI Tl Fre

(2) TEEHy (industrial revolution) 2 %, TEBK 2 ML B EER (conver-
gence) H£,

(b) TEE ey H I 20 TS, EHREES FHEEHERA,

(c) 2000 F 2009 F 1A, ERESEE Y FIS2HEL/,

(d) BLEEE,

19. (543) #i% Solow F BRI

() BEZAUE, TEFERERRIKLEE,

b) BEZHEEALEINER, FRELTASEERES,
() BEZATLGERNAR, FRELECRASHEN,

(d) BEENFARAEE, Rt EF e ERNAZE,

20. (543) HKDLEXCE, DUF s FRee
(2) 1870 EEM ALY GDP EEBER,
(b) REMBERTE, 20 HITHTPLE M/ NEN B RES B
(c) KIRMEFEEE Lant Pritchett B3R5, MBREHERES | (modern economic

history) B9 £ RSB R BEM AFREH LSRR ER,
(d) Solow BRI LIfZRE [RAKHEREE | 2HE,
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